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2 1 (600) AFE 2=
& 1 (610)¥ 42
&t (611)AIE =249 (chol: 2 l)
o St Al &t ==} N2 01| AFoH dEE Hm=2
600 At =< 69,097,162 70,236,145 A1,138,983
610 P+ 67,450,846 68,344,133 A893,287
611 AIE2E2 Y 64,604,448 64,914,497 A310,049
611-01 JI& & 37,590,725 36,080,500 1,510,225
@A
0 IIZE & MNBE
7202 X 43,690,589=X 95/100 29,884,362 28,551,387
960& X 3,310,845& X 95/100 3,019,490 2,731,558
1,250 X 1,533,062 X 95/100 1,820,511 1,951,165
o RZFYE JI=Ee2
2,942,411,400& X 95/100 2,795,290 2,779,204
o MM JIEE 22
7203 X 1,536& X 12& X 40/100 X 12&€ 63,700 60,217
o A4 IIFE 2ZE JI=2Rk=3
1,000 X 1,536& X 40/100 X 12& 7,372 6,969
611-03 LbEt= 21,269,376] 23,195,023| 21,925,647
@A
0 YEIE AT AEE
1,400 X 7,448,166 X 95/100 9,906,060 10,246,974
1,690 X 2,349,321 X 95/100 3,771,834 4,084,949
1,740 X 1,658,043 X 95/100 2,740,745 3,070,940
1,820& X 609,833& X 95/100 1,054,401 1,170,202
1,930 X 1,666,446 X 95/100 3,055,428 3,872,869
o R3YE JIEe2
711,294,735& X 95/100 675,729 656,884
o AMA UBlE 3
1,400 X 492& X 19 X 40/100 X 12& 62,818 88,865
o A& LEtE RAHYE J|E2e=a
1,000& X 492& X 40/100 X 12& 2,361 3,340
611-04 H=ES 515,845 724,614 A208,769
@A
o HEEE &4 MEZ
800& X 267,278& X 95/100 203,131 225,227
1,070& X 66,1255 X 95/100 67,216 87,894
1,120 X 50,450 X 95/100 53,678 70,513
1,160& X 166,754= X 95/100 183,762 333,039
0 Y JIEe=2
8,482,815& X 95/100 8,058 7,941




2t A==
& 1 (610)g 2
Mgt (611)ALEE 2 A
2. gares | U9 yp=xa
Oif &FoH
611-05 AtAXIA= 4,207,433 3,928,807 278,626
=CHE N
o MFE =k MER
350& X 11,907,336& X 99/100 4,125,891 3,847,748
4002 X 205,916& X 99/100 81,542 81,059
611-08 AE T 0= 1,021,069 985,553 35,516
=CHE N
o 2FZ(F0, 42BN E 5 F
461.6% X 187,736& X 98% X 128 1,019,109 984,030
o ZHA(27H)ZL &2 25 F=U=3
461.6% X 354E X 12 1,960 1,523
2 2. =3 A= 2,527,438 3,113,474 586,036
612-01 M ZB A+ 2,292,983 2,879,019 2586,036
SRl
< AEBAF HBOION =2(2,455F) >
o 13mm
43,000& x 1,620& 69,660 77,400
o 20mm
49,200 x 180& 8,856 9,840
o 25mm
72,0003 x 450& 32,400 36,000
0 32mm
96,0003 x 90& 8,640 9,600
o 40mm
147,500& x 40& 5,900 5,900
0 50mm D2 (AEHLE L&
188,500 x 40& 7,540 7,540
0 75mm D2 (AEHUEE)
503,000& x 20& 10,060 10,060
o 100mm D= (AEYHLE L&)
647,900& x 10& 6,479 6,479
o 150mm(AEY L ZEH)
1,194,000& x 5& 5,970 5,970




2 1 (600) At =
& 1 (610)g 2
MIBt: (612)2 . B =3 At=2 CHo ARl )
B ME. =, A= aarey | O8E= 4 ypza
Oif &FoH
< AEBAF S=BAHH £=2(2,7158) >
o 13mm(LBFHEFS)
900, 000& x 900& 810,000 900,000
o 13mm(E4X|)
398,000& x 720& 286,560 318,400
0 20mm( L BFHEFS)
1,317,000& X 72& 94,824 105,360
o 20mm(E4 X|)
468,000& X 108A 50,544 56,160
0 25mm( Y BFHEFS)
1,483,000& X 270& 39,960 444,900
o 25mm( &4 X|)
552,000& X 180& 99,360 110,400
0 32mm
1,878,000& X 90& 169,020 187,800
o 40mm
2,207,000& X 40& 88,280 88,280
o 50mm
2,826,000 X 40M 113,040 113,040
0 75mm
3,799,000& X 20& 75,980 75,980
o 100mm
5,857,000& X 10& 58,570 58,570
o 150mm
7,440,000& X 5& 37,200 37,200
< AETAL HEI BESE 22(1,8808) >
o 13mm
86,500& X 1,000& 86,500 86,500
0 20mm
119,800& X 200 23,960 23,960
0 25mm
129,000& X 500& 64,500 64,500
0 32mm
173,000& X 100M 17,300 17,300
o 40mm
255,000& X 40& 10,200 10,200
o 50mm
292,000 X 40& 11,680 11,680




(600) At =<
1(610)2 L=<
g8 (612)2 i =B A (Er9:&2)
BB, N 2. NS waor [ BF= ] ypzsa
Oif &FoH
612-02 HES At 234,455 234,455 0
SRty
< HESA =2(200&) >
o 13mm
841,000& X 80™ 67,280 67,280
o 20mm
1,191,000& X 30& 35,730 35,730
o 25mm
1,418,000& X 70H 99,260 99,260
0 32mm
1,536,000& X 10& 15,360 15,360
o 40mm
1,600,000& X 5& 8,000 8,000
o 50mm
1,765,000& X 5& 8,825 8,825
661 JIEtE & == 318,960 316,162 2,798
661-03 J|Et== 59 120,420 120,420 0
=& zte|
o =EHA =2 =Y
45,000& X 22324 X 123 120,420 120,420
661-09 J|EtL = 198,540 195,742 2,798
=
< 2 2efEE MYz >
0 S0I2RE=3 U=
1702 X 64,372,703& X 98% X 1.8% 193,040 190,242
SRty
o =& ItE JNRES
110,000& X 5074 & 5,500 5,500
670 F 22 1,646,316 1,892,012 A245,696
671 Ol Xt==< 121,500 265,800 144,300
671-01 OIS0l Xt 121,500 265,800 144,300
A
o H2tUIXIH (HIl0Z)
13,000,000,000& X 0.55%(14) 71,500 215,800
o =03
50,000,000 50,000 50,000




SPRS
(670) 2 2 2| 42!
5 (672)E 3 AT 342l (o e
B ME. =, A= gares | U9 yp=xa
of o o
672 Etal H &=+ 1,194,888 1,294,888 100,000
672-01 LB HAE A2 91,000 91,000 0
S
<SAMSMID| Mol 242 2L Y Wi >
0 SAEMI| Hel 442 V4D
4,550,000,000& X 2% 91,000 91,000
672-02 EtSEHEAZ 1,100,000 1,200,000 100,000
P
<otHE SEEH BUB >
0 BI4E MEBZ 9= M43
55,000,000,000& X 2% 1,100,000 1,200,000
672-04 EISE3IHX 23S 3,888 3,888 0
SEuED
<Bl4E SEIH XA >
0 HEOIBAM 4523 2B 2H3
10 X 7208 X 30% X 2003 X 9% 3,888 3,888
679 JIEtS & el 329,928 331,324 21,396
679-01 JIEtL =< 3,179 3,147 32
cazolY
o MFEAl AT DY 11-97
129m X 48,9002 X 10/1,000 63 61
0 WFA BT HAS 15
202.35M X 26,1002 X 50/1,000 264 257
0 WFA BT HAS 4 42
91m X 103,200 X 50/1,000 469 420
0 WFAl ST HOIS2} 1179-3
15.5m X 20,4002 X 50/1,000 15 14
0 WFAl ST HOIS2IF 1061-2
131.9m X 67,2002 X 50/1,000 443 545
0 WFAl ST HOIS2IF 1008-2
35m X 49,0002 X 50/1,000 85 70
0 WEAl AT AFS3VF 339-10
1,295 X 46,2002 X 10/1,000 X 50/100 299 277
0 MEA BT STE20F 1085-49
950m X 54,1002 X 10/1,000 X 50/100 257 227
0 WFA ST BEE4I} 126-42
55m X 64,0002 X 50/1,000 176
o MEA HHT SHS1I} L36-4
1,943 X 40,2001 X 10/1,000 X 50/100 390 31




2 1 (600) At 22
& i (670)2 e
HIE: (679)1E+E & 2l %=2] el &)
jnJ} St Nl &t =2 N Of] &FoH dEE H D=2+
= gl . 3. = Al 0f] At o wsE
o dFAl G&IF SHS2I &H59-7
3,574m X 40,200& X 10/1,000 X 50/100 718 664
679-03 =2 EZ0ML+=Y 140,000 140,000 0
=Rl
o & ¥ L=:HEI =SS0
4,000& X 35,000 140,000 140,000
679-04 HASLAZ < 34,000 34,000 0
=Rl
o =EHED OI&(STHEE)HA L WAl
34,000& X 1,000& 34,000 34,000
679-09 J|E+E 22 152,749 154,177 A1,428
=
o AtEZ2=2 A3
-+ EE
37,590,729,263& X 10/100 X 3% X 12& X 26/365 96,397 92,524
-g B
21,269,380,881& X 10/100 X 3% X 12& X 26/365 54,542 59,480
-H=EgE
603,333,333& X 10/100 X 3% 1,810 2,173




